
Variables: Algebraic Expressions III (E-3)
EXPRESSIONS WITH PARENTHESES II

Name:

Time: Score: /

185)

((10x + 0x÷ (81x÷ 9))) + 30y ÷ 10 =

186)

(8y − 0y) + (7y + 2y − 3y − 5y) =

187)

(63y ÷ 9)− 3y + (30y ÷ 6) + 10y =

188)

8y − 0y ÷ ((3× 8)− 4)÷ 6 =

189)

5x− 5x + x× 8− 4x + 8y =

190)

((2y + 7x)− (6x− 3x)) + y + 5y =

191)

9x + 6x + ((4x÷ 4 + 0x))− 2x =

192)

49y ÷ 7 + ((9x− 0y ÷ 1)× 1) =

Mathematics: Variables - Level 4 - Expressions - Set 3 25 © workulum.com

https://www.workulum.com

